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a) ANB ={n|nld6DEH}1ZH5, n(AN B) = 16.
b) n((ANB)UC)) =n(ANB) +n(C)—n(ANBNC)=16+20—-3 =33

a) 3<a<5s
b) 6 <a<7
c) BCAEBRDLDE a DEAZRONIERN. ZDLS7%% a DEEIL a > 8.

a) 3618 (U ={(a,b) |a, blE1HD6ETDERH } 12H5, n(U) = 36)

b) 23¢ {@

) A=1{(4,5),(4,6).(5,4),(5.5),(5.6),(6.4),(6.5),(6,6)}

d) B & TB=BOHEHLEDILBHMTHSD) THD, n(B)=3x3=9. UI=H'>T, n(B) =nU)—n(B) =
27.

) ANB ={(4.5).(5.4).(5.5).(5.6).(6.5)} £O, n(ANB)=5. Ps(B)=LYOE =208 — 5 7=,
PA)=L=2 PB)=2=2710DT, P(ANB)= < # P(A)P(B) = £ 2HhB, A& BIFAITIE
A AN

(4] a)

Ay .
B i 5t
B 0.9 % 4.95 % 5.85 %
=]E3 01% | 94.05% | 94.15%
1% 99 % 100%
0.9 .
B2 0.154(= 15.4%
b) Sz =0.154(= 15.4%)

P(AUB) = P(A)+ P(B)— P(ANB) &D P(ANB) = P(A)+ P(B)— P(AUB) =1 +1 -3 =

1
E/el PA(B) = P;’A(Qlf) = ? = %

L
10"

(6] A: [E550DMBE . B: [@HOBNBE EIDE, RODWEL Pa(B). P(A) =3, P(ANB) =

1
P(B) = ; I2D'5, P4(B) =+ = 3.
4
=1 =3 =L =3 _ =L
P(4) =, P(B) = 13, P(C) = 5, P(AN B) = o = P(AP(B), P(ANC) = - # P(AHP(C),

P(BNC) = 2L6 # P(B)P(C). UT=P'>T, AE BRI, AEC, B & C [BIRIITIIARN.

a) X ~B@.H s, EX)=2, VX)=1

= ﬁ = — @ —
b) E(X) = 22 =194, V(X) = 22 =205
X 0 1 2 3 5t 12 24
C) 1 12 13 2 J:D E(X)ZT, V(X)=4—9
Plss |35 |3 |35 |1
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5] ROL-BEORBONE X ETB. BEATE 1 EPB, EX) = 75
4 4 4 4
(M) ., o(X)=25V5=559 (M)
0=5 b
E(Y)=aEX)+b, V(Y)=aV(X) PEDIIDDT, TP smaT, a= L p=_L
1 = 10042 10 2

SVCEDOEDBDHZE Y, ROLIZEEOKEZE Z £3dL, X =YZ. Y & Z [FRSHITRIITH

BHh5, E(X)=E(YZ)=EXY)EZ). 2UT, E(Y)= % E(Z) = 11°h'5 E(X) = %

a) X ~ B(1000,0.05)
b) E(X) = 1000 x 0.05 = 50, V(X) = 1000 x 0.05 x (1 — 0.05) = 47.5.

x|o|1|2]3|s&
a) X OBESHI E(X)=%, V(X):%.
14 7 7 14
3 2HE -3 a3y _ 15
b) ¥~ BA.HIEDS, EXY) =, V() =dxox =2
1 _ _ 4 _2J3
a) X ~B(6.3)., E(X)=2, V(X)==, o(X)=-"3=

b) 3 DEBHOBAEEL >-E@HIE6 - X ZH5, ¥ =H2)X +(-1)(6-X)=3X -6
) E)=EBX —-6)=3E(XX)—6=2x3-6=0, V(Y)=V3BX—-6)=32V(X) =12, o(X)=2V3.
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